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logarithmic ~ -sensitivity log =log
= (Ux:11)22 logUz= log U, + 0.38]
=(logUs+log )/2log =log +0.39
Adaptation: Ay =503

logarithmic  -sensitivity log
= Uz 2> logU,= logU, + 0.06
=(logUs +log )/2log =log +0.72
Adaptation: Ay =525

logarithmic  -sensitivity log
=(Uy )05 logUa= logUo + 0.79
=(logUs+1log )/2log =log -0.02
Adaptation: Ay =475

WE450-5, change of PDT in volour vision
logarithmic ~ -sensitivity log =log

= (Ux:1r)2> logUz= logUg + 1.16}
log =(logUz+log )/2log =log -0.39
log[ ,Us Adaptation: Ay =450

/

WE450-7, change of PDT in volour vision

logarithmic ~ -saturation log =log

= (Ux:1r)22 logUz= logU, + 0.38]
log =(logUz+log )/2log =log +0.39
0.16 log Po/Us /U3 Adaptation: Ay =503

1+

logarithmic  -saturation log
= Uz 2> logU,= logU, + 0.06}
=(logUs+log )/2log =log +0.72
0.16 log PJ/Us /U3l Adaptation: Ay =525

1+

logarithmic  -saturation log
=(Uy )05 logUas= logUo + 0.79
=(logUs+log )/2log =log -0.02
0.16 log PUo/Ua,  1U3] Adaptation: Ay =475

1--

-saturation log =log
=(Uy logUs=logU, + 1.16
=(logUs+log )/2log =log -0.39
0.16 log Pa/Us /U3 Adaptation: Ay =450

1+

logarithmic

'WE450-8, change of PDT in volour vision

BAM-test chart no. WE45; colour vision

Logarithmic cone sensitivities and ratios or differences
M O

logarithmic ~ -sensitivity log =log
= (U3:r)%> logUs=logU, + 0.38
=(logUs +log )/2log =log +0.39
Adaptation: Ay =503

logarithmic  -sensitivity log =log
=(Uy )05 logUa= log U, + 0.06,
=(logUs +log )/2log =log +0.72
Adaptation: Ay =525

logarithmic  -sensitivity log =log
=(Uy )05 logUa= logUo + 0.79
=(logUs +log )/2log =log -0.02

, Ua, Adaptation: Ay =475
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WE451-5, change of PDT in volour vision

Threshol:
ts=0.007

logarithmic  -sensitivity log =log

= (U3:ar) %> logUs=logU, + 1.16
log =(logUz+log )/2log =log -0.39
log[ ,Us Adaptation: Ay =450
/ AN

/

Threshol:
t=0.007

600 7002 /nm

WE451-7, change of PDT in volour vision

logarithmic ~ -saturation
= (Ux:1r)%> logUas= logU, + 0.38
=(logUs+log )/2log =log +0.39
0.16 log Ja/Us, /U3l Adaptation: Ay =503

1+ Threshold

logarithmic  -saturation log
=(Uy )05 logU,= logU, + 0.06
=(logUs +log )/2log =log +0.72
0.16 log Ja/Us, /U3l Adaptation: Ay =525

1+ Threshold
t,=0.007

logarithmic  -saturation log
=(Uy )05 logUa= logU, + 0.79
=(logUs +log )/2log =log -0.02
0.16 log PUo/Us, /U] Adaptation: Ay =475

1+ Threshol
ts=0.007

logarithmic ~ -saturation log =log
= (Ux:1r)%> logUa= logUg + 1.16
=(logUs+log )/2log =log -0.39
0.16 log Ja/Us, /U3 Adaptation: Ay =450
1+ Threshold
t-=0.007

WE451-8, change of PDT in volour vision
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